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Choose the correet answer: (One degree per paragraph)

(1) 8075 -8000 to the nearest ............... (10 , 100 , 1000 , 10000)
(2) The probability of the certain event = ...... (Zero, 05, 1 , 2 )
(3) 1.07+ 9= oo, (1.16, 1.79 , 10.07 , 10.70)
(4) The diameter in the rectangle divides it into two .............. triangles

(congruent, non- congruent , isosceles, equilateral)

(5) 348 +100 =............ (0.348 , 3.48 , 34.8 , 34800 )
(6) The number of lines of symmetry of the Square is ........... (0, 4, 2, 3)
(7) 9004 _ ... to the nearest ten. (0.9, 90 , 900, 9000)

(8) If adieis rolled once ,then the probability of the appearance of an even

number = .......... (=, 2, 2,2

6’ 6 4 2
(9) 3.5 TONS = wovveerrrrnen. Kg. (35, 350 , 3500 , 35000 )
(10) 6457 - ............. to the nearest hundred. (64.00, 6400, 6500, 645700 )

(11) e, is one of the methods of collecting data.

(Parallelism, Congruent , Observation , Equality )
(12) 13- 2.65 = woorcorrerrerrnn (15.65, 11.65 , 10.53 , 10.35 )
(13) 64.69- .......ccuueueee. to the nearest decimal (64 , 64.70 , 65 , 65.70 )
(14) The number of lines of symmetry of the equilateral triangle is ...........

(3,2 , 1, 0)
Complete: One degree per paragraph
piete. ( gree per paragraph) / ot \

(15) 45.85+48.63 = wvevvreerrrerrenn.
(16) The diameter of a circle is the line of .................. for it

(17) e is length measurement units.

(18) If a coinid drawn once ,then the probability of appearing

ofahead=.............
(19) 84 hours =.......... day

(20) 98796 - 35482 - k ................................... /
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Find the result

(21) 42819 + 1000 =....ccecveeneennes e to the nearest hundredth
(22) 52.46-2.731=...uuecuennen.. e to the nearest unit

(23) 5.63+11.25=....ccceecuveue. e to the nearest tenth

(24) 10,9.6,9.2, ............. ) rerreeeeeeaes Complete the same sequence.
(25) The two squares are congruent if .......ccccceeveeeennenes ) eeere e e eneaene

(26) Arrange in a descending order: 8% L, 9000 mi.l,5L, 6500 mi.l

The descending order : ................ P ) eererereeeeeeans ) eererreeeeeens

(27) Omnia bought a group of toys for 34.75 pounds , and a colored ball for
26.31 pounds. She had a banknote 100 pounds, what is the remainder
with her?

...............................................................................................................................

...............................................................................................................................

(28) A box with 5 similar balls, 2 of them blue, 3 red. If one ball is drawn

randomly , what is the probability that the drawn ball is red?

the probability that the drawn ball isred = .......c..cooooiiiiii

---------------------------------------------------------------------------------------------------------------------------------------

(29) Draw the lines of symmetry for each of the following figures:
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(30) The following table shows the number of students participated in

various activities in the school, represent these data by columns

Activity sports cultural Social Art

Number of pupils 70 20 30 40
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